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y= xx+B.3()
,None

reason this is better -
11(3)ll== is projw(j)= Er
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②
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Best case Scenario : all data is on a line.
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piny in date into model

System of lover eaus. X BAx= b is
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·
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Best case Scenario : all data is on a line.

TheSystem

piny in date into model

System of lover eaus. X BAx= b is
inconsistent.

C(0..5) 05 = x(0) + B OUTBE
& (1 , 1) 1 = x(1) + B S

3 + B = 3

A= (o) =
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,
2 .5) 2.5 = x(z) + B
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2-2 .st" + (3
.

1 -3)2

= ( + 13 + 13 +(
= 02

↑sum



A "design matrix"

E
-

#ca

&V ,
V2] basis for ColA

If a vector beColA Si .
turn -=CV+ EV = All

has exactly one soln .

So given be 1
m

any
rector

theres a unique L-S .
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At = (ii :ni)(i) = (c)
stezSolve al equs. ATAX= ATh-

(8/s) ~ ( Plin) so x= Liz).
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6RX
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residuals residuals.
n + /) Xb

Step 1 compute AT,
ATh

--

Step2
Solve Normal egus ATAX= Ab.
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New idea What if instead of
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system of liver equs.
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